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http://www.transitionpathwayinitiative.org/
http://www.lse.ac.uk/GranthamInstitute/tpi/about/how-investors-can-use-tpi/
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http://sciencebasedtargets.org/
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http://www.lse.ac.uk/GranthamInstitute/tpi/the-toolkit/
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http://www.theicct.org/chart-library-passenger-vehicle-fuel-economy
http://eur-lex.europa.eu/legal-content/EN/TXT/?uri=CELEX:32009R0443
https://www.epa.gov/emission-standards-reference-guide/epa-emission-standards-light-duty-vehicles-and-trucks
https://www.epa.gov/emission-standards-reference-guide/epa-emission-standards-light-duty-vehicles-and-trucks
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𝑌 =  𝐹𝑢𝑒𝑙 𝑡𝑦𝑝𝑒 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 ( 𝑋 ( 𝐴 ∗  𝐿𝑛𝑋 + 𝐵)).⁄⁄

• 

• 

• 

• 

• 

𝑌 =  𝐹𝑢𝑒𝑙 𝑡𝑦𝑝𝑒 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 ( 235 𝑋 )⁄⁄

𝑌 =  𝐹𝑢𝑒𝑙 𝑡𝑦𝑝𝑒 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 ( 𝑋 ∗ (−0.0841 ∗ 𝐿𝑛𝑋 + 1.3464)).⁄

 

 

https://theicct.org/sites/default/files/publications/ICCT_LDV-test-cycle-conversion-factors_sept2014.pdf
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http://bit.ly/1Ljltdh
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𝐹𝑢𝑒𝑙 𝑡𝑦𝑝𝑒 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡
= (𝑑𝑖𝑒𝑠𝑒𝑙 𝑠𝑎𝑙𝑒𝑠 𝑠ℎ𝑎𝑟𝑒 × 𝑑𝑖𝑒𝑠𝑒𝑙 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡)
+ (𝑝𝑒𝑡𝑟𝑜𝑙 𝑠𝑎𝑙𝑒𝑠 𝑠ℎ𝑎𝑟𝑒 × 𝑝𝑒𝑡𝑟𝑜𝑙 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡)

𝐹𝑢𝑒𝑙 𝑡𝑦𝑝𝑒 𝑐𝑜𝑒𝑓𝑓𝑖𝑐𝑖𝑒𝑛𝑡 = (1% × 6315) + (99% × 5497) = 5505

𝑈𝑆 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦 (
𝑔𝐶𝑂2

𝑘𝑚
, 𝑁𝐸𝐷𝐶) =  5505 ( 𝑋 ( −0.1033 ×  𝐿𝑛𝑋 + 1.473)) ⁄⁄

𝐶ℎ𝑖𝑛𝑒𝑠𝑒 𝑒𝑚𝑖𝑠𝑠𝑖𝑜𝑛𝑠 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦 (
𝑔𝐶𝑂2

𝑘𝑚
, 𝑁𝐸𝐷𝐶) =  5505 (235 𝑋⁄ )⁄
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2030 𝑡𝑎𝑟𝑔𝑒𝑡 = 133 × 1.136 × 0.65 = 98.2
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